Bk kATimk T h7& SsQZ..RS &7

BALL JOINTS SQZ..RS SERIES BE%%I;'N G
E 4%k Straight joint
o
d iy
dyld; ﬁlﬂ S,
B L, —+
|2L 1 L 7% {kHousing fHr 4T Stud
| BERA 4Zine base alloy T4 Carbon steel
7! ‘ ‘ % #Black oxidized
‘ - \ J JE= 42 ISliding contact surfaces: A 4/5A Alloy/Steel
L,
71-=- Part No. X5} Dimensions mm | EA R
Load .
tms | Eme o | s | M
Righthand | Lefthand % |% O L L L O I T L L L L ) POR g
SQZ5RS SQZL 5 RS 5 M5x0.8 |9 20 |[8 1 7 46 |24 |4 1219 1 (17 |9 15 (28 0.025
SQZ 6 RS SQZL 6 RS 6 M6x1.0 |10 [20 |11 (122 |8 552 |28 |5 15 |10 (13 (20 (|11 15 (3.7 0.041
SQZ 8 RS SQZL 8 RS 8 M8x125 |12 |24 |12 |16 |10 (65 |32 |5 16 [125 (16 (24 |14 |15 |58 0.075
SOZ10RS (SQZL10ORS |10 |M10x1.5 (14 |30 |21 |19.5 |11 80.5 (35 |65 (18 |15 |19 (28 [17 |15 |84 0.12
SQZ 10-1 RS |SQZL10-1RS |10 |M10x1.25|14 |30 [15 [19.5 |11 74535 |65 (18 |15 |19 (28 [17 |15 |84 0.12
SQZ12RS |[SQZL12RS |12 |M12x1.75(17 |32 (24 |21 15 |91 40 (6.5 (20 (175122 |32 [19 [15 |11 0.18
SQZ12-1 RS |SQZL12-1RS |12 [M12x125(17 |32 (17 |21 15 |84 |40 |65 |20 175 |22 |32 19 15 (11 0.18
SQZ14RS |SQZL14RS |14 |M14x20 |19 |38 (28 [235 |17 |109 |45 |8 25 |20 |25 (36 [22 |11 |15 0.27
SQZ 14-1RS |SQZL14-1RS |14 |M14x15 |19 |38 |22 [235 |17 |103 |45 |8 25 |20 |25 |36 |22 |11 |15 0.27
SO0Z16RS |SQZL16RS |16 |M16x2.0 |22 |44 (29 (255 |19 |118 |50 (8 271 |22 |27 (40 (22 |11 |15 0.36
S0Z 16-1 RS |SQZL16-1RS |16 |M16x1.5 |22 |44 |23 [255 |19 |112 |50 |8 27 |22 |27 |40 |22 |11 |15 0.36
SOZ18RS |[SQZL18RS |18 |M18x1.5 [23 |45 (25 |31 20 1305|158 |10 [32 |25 |31 |45 (27 |11 |19 0.54
SQZ20RS [SQZL20RS |20 |M20x1.5 |27 |50 |25 |29 |24 |133 [63 (10 (38 (275 |34 |45 |30 |75 [19 0.57
SQ0Z22RS |[SQZL22RS |22 |M22x15 |27 |52 |26 |33 |24 |145 |70 (12 (43 (30 |37 |50 |32 |75 |23 0.76

AN B B i A5 S QZ.

——The part number of ball joints without seal is SQZ.. .

120






